SEEEXTEABEEE—&

NASS

2 RE5%

A E

akd D641 28 2H(A)

~12A10BH(R)DEBEB®
OEIVEDTE FEHiEA % TEL.073-425-6885

R P /=
INEEIEE S 7%FE£2H1H
L —fEitErEE ZREE-D~F>
— - _ Bl | | ms m R FHEHET
80S & - i A =
@& | ©2S P& WSRO -l OBEOR |\ Ly | S e g [ @R | PN X 8 AED AED
@ 20,800
N X . NS 4D — 9 24000
17 ~24| D e 3DK 1o ee 1 4B | 1| 0| 1 | 9 358 — | =
5 (£ o6.4m B © 35300
® 40,800
@ 31,000
F B BTG @%EEESB%E %28’288
= UEr AN=F=I=] y _ _
102 | T B 3413 70.0r tomes | B | 1 105 1 O | f @ 46,200
INUPI— ® 52,800
® 60,900
% 18,500
: 21,300
- . it WSS 3 peee ’
v BB CET T @ 24,400 .
i ® 31,400
® 36,300
% 19,000
\ 23,000
- . it WA XS Sz ’
O Y Bl i 3LDK mo | m| 1| sk [ 1] 0|1 |33559 e
647 ® 33,900
® 39,100
B %%kouéﬁz g@—}% W“W*%ZBE;% % 27100
i 51—10 (22 Ao se 42,400 .
pomnt | O |FBmo—6 Gsm) [ADK W@ (Bl 1T | 1B | 1) 0| 1| g 47800 O
£51—2 (52/%) ® 63,100
% 22,900
N 26,500
B’ 33 = MPAHEIS S S R, @ 30,300 o
6 _.g_ ﬁ T %:83392_8 §8L3Dmt< %Dl’ﬂj_l:ll:l ﬁ% 1 3[‘% 1 O 1 @ 34,100 O
: ® 39,000
® 45,000
@ 25,600
il Lok 5 53800
S B AN =[=1=} ) - _
IE@@D% W E;E409_5 699”12 %D/’m_nn ﬁ 1 45%4 1 O 1 @ 88,200
NP — ® 43,600
® 50,300
% 15,300
muHsaEE | 5 18 10100
s R | T |EgEY 3DK ml 4 | 4 | 1| 0] 1| 335233 — | O
=R 60.0r N=EC ’
no/Zna0 @ 26,100
® 30,100
@ 27,300
BAT gj&ﬁﬁg[%ﬁ % %25’888
HOEDU| 7 |ige=sitgq—3 69.3n3 tomes | B | 1 28 | 1 1 0| 1| & 20600 — | —
NP — ® 46,400
® 53,600
< BREMEFEE: H>
i XTREAAEREVEEEEEEDERP7ECE S,
_ i _ BSER [y n R XEB KB
= o, e IUA =5
@ 24,800
it WASYE 1 2Bz @ 28,700 SN
JI 7K H AR 2DK 5 1 3L 1 0O 1 3 32,800 P7
1 S & g51—2 51.2nf 5 @ 37,000 EBAH B
NP — ® 42,300 202
® 48,800
(EFAHERB)
— Rt EOEBSOHAZBRBDEY (BE2EBEEDCEKAP4L) @ (1) e (N) ZEA. DDORODHLSDULNTFNHIC
ZYITDHICRSNFET,
D6 O EDBBDTS.

Q@B (6 0mMUL) ODHDSIRDHE,
QXiw (BREBZSHIT, ) OHDUBTRFENITFNHO—D6 OMULETHDC &,




K BEEFERAEE-F>

MREGEFROIRAP6ZIRESLY,

KEREE (1~48) THEIEHNHRTT

— _ - BERE  n [ me m R HHEME
= S e m ‘5% =
@& | &S P& WE RO - ni| OBEOR | | S [ [ g [@x | TN x = AED| ARD
% 17,000
\ 19,600
= MW ABYE 4 B ’ BeE=N
g5 * |BAT, - 3DK moo(m| 1| 1| 1o 1| 92255 P63
7 58.5n 5 28900 ERSR
® 33,400
([AFRIREE EEREBEN]
 —gitHFREE-T7~2>
_ _ ASERE [ m R ESEUE
=l =) =, e |V | BE 0 w
Hitth 3 530S P & i 1BE - BED E@%EE%; -5- | BY _— EPY =y % s AEDIARD
A 2 18500
4 TR 18,200
20 = :
\ 4 hesze B 18 ® 20,800
B B | U |©ox@0E 3DK Ame | MmO [ 4B | 1] 0| — | O
“oos B @ 23,500
982-2(28®  |550m = © 26,800
© 31,000
@ 16,000
@01 MBS - 2 18500
EAE) | Y |pomemE)| Siee BB lm| 4| op | 4| 0] 14 | @ 21200 — o
7420—5 3DK et @ 23,900
60.0m ©® 27,300
® 31,500
@ 21,700
” 22
= N Ea\ Eb AN=—N=1=} ’ —
PRE | Y |eEm2117-4  |3LDK fomes | A1 | 288 1 1 O 1] g 32400 O
67.0m ©® 37,000
® 42,700
[(RFEERME SAERIAEN]
 —itFHREE-R >
— - ~ BSEE | 1in m R EeEHE
=] ME HiEg IUA %%
B | &S T BiE - B0 SAEEDR DL | 28 T mm | —m | @r | X x & AED|AED
@ 13,000
== = =] ;A =] L - — , _
B &| | A |1061-3 3DK Aes || 2 |*E:2P 21 0| 1 | g 19200 O
604 © 22,200
® 25600




